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Answers to Sample Final Exam
Math 125 (Introductory Statistics) Kowvitz Spring 2023

0.375 or 3/8
70.4 inches.
about 2.72257 inches.

height = 0.028 x weight + 64.1; 69 inches;
or height = (%) x weight + 64.1; 69 inches;
or height = (%) x weight + 64.1; 69 inches;
37.8 pounds

P = 0.0235%; gets too many heads.

P = 0.345%; gets too many fours.

70.4 inches
70.4 inches

70.4 inches

Left-hand table: P is a bit less than 1%; conclusion: the die is not fair.

Right-hand table: P = 10%; conclusion: the die is fair.



